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./a.exe

HHHHH R
Hit# Identical Twin Experiment H#H#
#Hi# Kalman Filter (page 131) #HH#
i S s s

Assmilation Period: t= 0.00- 10.00
Prediction Period: t= 10.00- 20.00

kkkxxkkAssimilation Period: x skkskskkokoksk

[Time] [True] [No Assim] [Assim]
0.00 5.000 2.000 2.000
2.00 1.487 1.702 1.503
4.00 -2.623 -0.758 -2.576
6.00 -1.585 -1.225 -1.606
8.00 1.164 0.135 1.130
10.00 1.261 0.774 1.316
kxkxkkkPrediction Period: x kskkskkskxok
12.00 -0.370 0.122 -0.334
14.00 -0.857 -0.434 -0.881
16.00 -0.002 -0.188 -0.030
18.00 0.516 0.213 0.523
20.00 0.137 0.169 0.156

fkxkkxkAssimilation Period: v skskskokkskx
[Timel [Truel [No Assim] [Assim]

0.00 0.000 1.000 1.000
2.00 -2.768 -1.142 -1.142
4.00 -0.727 -0.903 -0.793
6.00 1.477 0.451 1.453
8.00 0.826 0.663 0.839
10.00 -0.673 -0.098 -0.655
*xxkkxkkPrediction Period: v kskkkskkskk
12.00 -0.675 -0.425 -0.706
14.00 0.228 -0.053 0.209
16.00 0.467 0.242 0.480
18.00 -0.015 0.095 0.000
20.00 -0.285 -0.121 -0.289

[Observation]

No obs
1.488
-3.136
-1.510
1.122
1.699
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program Hello
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end program Hello
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